SINELAHE = FIEREOD

7A15H (L) wH EEET
7H168 (H)

RER ~ FIEE HEH 15:00 ~ 21:30
SHEE ~ XARIZAO E 15:00 ~ 19:30
PEFR ~ PREHRADLSLSEY) 19:30 ~ 21:30

SIEXHEF =)IBRAEE

19:23 = 19:40 —EREE (T <S@YUERA)
19:41 = 19:57 —ERZE (T <5@YUEEHR)
19:54 = 20:10 —EREE (T <S@YUERA)
20:07 = 20:23 —EREE (T <5@YUEEHR)
20:24 = 20:40 —EREE (T <S@YUERA)
20:45 = 21:01 —EREE (T <5@YUEEHR)
21:04 = 21:20 —EREE (T <S@YUERA)
21:22 = 21:38 —EREE (T <5@YUEEHR)
21:43 = 21:59 WEETT

22:02 = 22:18 WEETT

22:40 = 22:56 EEET




SZNERIEO = [IEKHF

7A15H (L) wH EEET
7H168 (H)

RER ~ FIEE HEH 15:00 ~ 21:30
SHEE ~ XARIZAO E 15:00 ~ 19:30
PEFR ~ PREHRADLSLSEY) 19:30 ~ 21:30

=) IIBAEE SIS KAHEF

19:33 = 19:49 —EREE (T <S@YUERA)
19:43 19:59 —EREE (T <5@YUERA)
20:01 = 20:17 —ERZE (T <5@YUEEHR)
20:15 = 20:31 —EREE (T <5@YUEEHR)
20:26 = 20:42 —EREE (T <S@YUERA)
20:46 = 21:02 —EREE (T <5@YUEEHR)
21:05 = 21:21 —ERZE (T <5@YUEEHR)
21:25 = 21:41 —EREE (T <S@YUERA)
21:44 = 22:00 EEET
22:02 = 22:18 WEETT
22:20 = 22:36 EEET
22:42 = 22:58 EEET
23:00 = 23:16 WEETT




